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Aufgabe 14 Sushi 12 13 14 15 11 10
12 11 13 15 14 E*p E*p E*p E*p E*p E*p
10 5 0,5 28 34 22 10 16 1,4 1,1 08 05 1,7 2
11 15 1,65 38 44 32 20 26 5,7 4,8 3,9 3 6,6 6
12 30 3,6 48 44 42 30 36 14,4 12,6 10,8 9 13,2 12
13} 25 3,25 48 44 52 40 46 12 13 11,5 10 11 10
14 15 2,1 48 44 52 50 56 7,2 78 84 7,5 6,6 6
15 10 1,5 48 44 52 60 56 4,8 52 5,6 6 4,4 4
12,6 258 254 252 210 236 46 45 41 36 44 40
Aufgabe 11: Lose Aufgabe 13: Skipass
expol Ausgabe pi A*pi Anz. Tage P(Schlect Einnahme S*P*3113
0 2 0,2 0,4 0 0,9063 20 18,13 540000
1 4 0,16/ 0,64 1 0,0906 15| 1,359 40500
2 6 0,13 0,768 2 0,003 10 0,03 900
3 8 01 0,819 3 3E-05 5 2E-04 5
4 10 0,41 4,096 19,52 581405
5 Erwartete Einnahme pr 19,5161

1 6,723 Mittlere Ausgabe






